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Number Sorts – Timed Questions
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1 Use a shuttle sort algorithm to rearrange the following numbers into ascending order, showing
the new arrangement after each pass.

23 3 17 4 6 19 14 3 (5 marks)
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(a) Use a quick sort to rearrange the following letters into alphabetical order. You must
indicate the pivot that you use at each pass.

P B M N J K R D (5 marks)

(b) () Find the maximum number of swaps needed to rearrange a list of 8 numbers into
ascending order when using a bubble sort. (1 mark)

A list of 8 numbers was rearranged into ascending order using a bubble sort. The
maximum number of swaps was needed. What can be deduced about the original
list of numbers? (1 mark)
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Five different integers are to be sorted into ascending order.
A bubble sort s to be used on the list of numbers 6 4 x 2 11.

After the first pass, the list of numbers becomes

4x26 1
Write down an inequality that x must satisfy. (1 mark)

After the second pass, the list becomes

x 246 11

Write down a new inequality that x must sat

(1 mark)

‘The five integers are now written in a different order. A shuttle sort is to be used on
the list of numbers 11 x 2 4 6.

After the first pass, the list of numbers becomes

x 11 2 46

Write down an inequality that x must satisfy. (1 mark)

After the second pass, the list becomes

2x 11 46
Write down a further inequality that x must satisfy. (1 mark)

Use your answers from parts (a) and (b) to write down the value of x. (2 marks)




